1.

th& 1¥ellA AB //DE ¥ ®, DE ©] Zo]=?

@1 @ 2 3)3 @ 4 ® 5

B

AABC 0 AEDC (AA E2)0|22
AC:EC=AB:ED

4:6=2:x

4x =12 SLox=3




th-& 2ol A AD = /BAC 9] o] 52401, AB = 8, AC = 6
oltt. AADC 9] WolE a 23 & uf, sABD ©] Yol q ol Tte]
e Y

BD:DC=8:6=4:30°]2% AABD : AADC =4:3
AABD :a=4:3

4
. AABD = g(l




3. o= ™I ol 4 7] WaAdo] = A g o, x+ 2y Of §E2?

N
AN L
3 <

5 N

\ \

7’ \\ r
\ \

] N S

® 15 @ 17 ® 19 @21 ® 23

QT

B ~

15
3:y:2:5,y:?

15
5:x:?:9,x=6

T x+2y=6+15=21




4. oZ I%°|A BC//DE € o, x +y o 27

_-6cm~ _

~e oo

@ 12ecm @ 15ecm @ 18cm @210111 ® 24cm

~&B

4:8=6:y°]B2& y=12(cm)
CA:CE=BA:BD°JE&E8:12=6:x
x=9(cm)

. x+y=21(cm)




o I olAl AR DE,EF,FD ol A
AABC O] Hlo] Bajot AES 7|52 Le
RIE

[
=

>
>

0
I
3
o

B

9:6#6:75
8:10#6:9
75:6=10:8
~.AB // ED




6.

t}-& 1A DE, EF , FD %]
A AABC O] Wt Bt A% o] 2
o9 g-& Fatefh.

> HEh: 14 cm

B

75:10=6:8°]|22 FD // AC
8:6=10:7.5°22 AB // ED

— 6

FD—14><ﬂ_6(Cm)

ED—14><§—8(Cm)
N 14

~FD+ED =6+8 = 14(cm)




7. o2 "M k//1)/m//n L W, xy 2]
#e Fatolet

i

\VARR 4
0
i

45




~5cm- B ~5cm~
@ ADBE @ AABC © BC//DF
© EF//AB ® ¢ADF = /ABC
@ AADF ¢ AABC
® 6,60 @o.@ 0 ® 6,0
@ O, e ® 0,6, 0

AABC®]A AD : DB = AF : FC = 2 : 3°| 22 DF // BCO|t.
ol W, /AE ¥%5, /ADF = /ABC(EHYZ)oln=
AADF ¢ AABC(AA S )




9.

ohg T3 2 AABC oA AD i /A 9] o] 5E Ao
T+

o4 AD Ei= 1 @A Slo] W7 5410] g 717)
w}, DE o] ol Fatelel.

>
>me: D
3

~&B

ABED ¢} ACFD & 5§ Zto| o grgo|tt,

AB:AC=BD:CD °|E2 BD:DC =5: 3 o|t}.
(o)




